Blackline Master     Grade 3      Day 4    Standard(s) 3.NBT.2
Show All Totals Homework
1.  Jack is a competitive Chess player.  Over the past few years, he has won 456 games and lost 315.  How many games has he played?







2.  The produce department at the local grocery store had a sale on fruit.  During the sale, they sold 363 pears and 589 apples.  How much fruit did they sell?







3.  Analyze the work below.  Explain how to fix the problem.  Solve the problem using the Show All Totals method.

211 + 173 = ?

200 + 100 = 300
10  +  70   =   80
1     +  3    =   4
		     420

